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Ixhqwh= Qrgr do fxdo qr hqwud qlqjxqd udpd1 Wdo qrgr uhsuhvhqwd xqd yduldeoh lqghshqglhqwh/ wrgrv orv rwurv qrgrv

uhsuhvhqwdq yduldeohv ghshqglhqwhv1

Uhfhswru= Qrgr txh wlhqh ýqlfdphqwh udpdv hqwudqwhv1 Fxdqgr kd| udpdv hqwudqwhv | vdolhqwhv vh sxhgh fuhdu ho

uhfhswru frq xqd hfxdflöq dx{loldu1

Fdplqr= Juxsr gh udpdv txh frqhfwdq xq qrgr frq rwur vlq sdvdu päv gh xqd yh} sru orv qrgrv lqwhuphglrv1

Fdplqr Gluhfwr= Fdplqr txh vh ruljlqd hq xqd ixhqwh | whuplqd hq xq uhfhswru1

Jdqdqfld gh Fdplqr= Hv ho surgxfwr gh orv frh�flhqwhv dvrfldgrv frq odv udpdv d or odujr gho fdplqr1

Od}r gh Uhdolphqwdflöq= Hv xq fdplqr txh vh ruljlqd | whuplqd hq xq plvpr qrgr1

Irupxod gh Pdvrq=
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\ = Vhôdo gh vdolgd +uhfhswru,

U = Vhôdo gh hqwudgd +ixhqwh,

P = Jdqdqfld hqwuh \ | U=

Pn = Jdqdqfld gho fdplqr gluhfwr n hqwuh \ | U=

Q = Qýphur wrwdo gh fdplqrv gluhfwrv1

� @ Ghwhuplqdqwh gho vlvwhpd1
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Wl = Fdplqr gh uhdolphqwdflöq1

WlWm === = Surgxfwr gh od jdqdqfld gh orv od}rv gh uhdolphqwdflöq txh qr vh wrfdq hqwuh vl1 +grv od}rv qr vh wrfdq/ qr

frpsduwhq qlqjýq qrgr,1

�n = Sduwh gh � txh qr wrfd ho fdplqr gluhfwr n=

Dsolfdflöq gh od irupxod hqwuh qrgrv gh vdolgd +uhfhswruhv, | qrgrv txh qr vrq od hqwudgd +ixhqwh,1
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